ke 106 & 2f 2R FRSEE Y - ERFAL

T wp
1 AEERP £ 73 F 8352540 A% 2 HEA > 53044 » %4 100 4 o
2. RBEEBEF EV g -
. HREFEEBALFERZ(F )Y o

. #6 (—2,6) ® T {7 X e > L T F|VR— 8L 9
A (=2,00 (B (=3,6) (C)(6,0) (D)(1, —=2)

)2. 1§ (V12 + 410 x/15) x /3 = ?

(A)6+5V6  (B) 24/3+152  (C) 18Y2 (D) 6+15V2
)3, FU* fe E T 5 I X2 42X+ 51 & (x+a)?+b 555 o Pl (a,b) w9
(A) (1,4) (B) (2,5) (C) (1,5) (D) (2,4)
Yo L RYEEA A € > By 184%EHESE 136 BIT A LA Rk Fhee h (FA4E LB ) BEBEE S 43007
AT ARE ORI A R PP (fFE L) AT A S D
(A) 4 (B)5 ©9 (D) 20
)5. 37 R BMETEA2E T F OB AR TAKLTE 30 A% 7000 ~ o A2 30 Ae¥RA > & A& 190
o | F* 29900 ~PEE o BT FVE ZORE D

(A)120 (B)150 (C)155 (D) 157
13%180°

6. FE A - pE LT N B 5 A
(A4  (B)15 (C)28  (D)30 - - -
)7. 4-® (- )» AABC*® » AD L 4~ /BAC > * DE L AB -~ DF LAC >
@ s AABC & ## % 49+ AB=6 ~ AC=8 > B|DE = ? B : C
(A8 (B)7 (C)6 (D)5 B (=)

)8. T 7w i§45 ABCD eh= BTEEA B 5 A(1, 243)~B(-1,0)~C(2, 3)> BRI D Behd £ 5 0 ?

(A) (0, 243) (B) (3, 3J3) © (1, V3) (D) (4, 33)
)9. AMBC*® > %2, A:3,/B=8:9-2,B: ~C=6:5> p|AABC = #2 = -| B 1«:;*

(A)JAB >AC>BC (B)AB>BC>AC (C)AC >BC>AB (D)AC > AB >BC
)10, 2k X~y # L Ed o ¢ wd =32x2Y > Fx9 =1 plx+yehiE s e 9

A0 B1L (62 (D) aj=
YL T ARG - o =B AR e 19 LA P B R BLAFERE A AP F 7

(A) xX*—x=x-1 (B) 2x*-12x+18=0 (C) x*+4x-4=0 (D) (x-2)* =2(x-1)?
)12, ¢ % L85 ? L a =lLa,=3,a,=5,.. L% ib=1Lb=5b=9, -

F#Fp LC=a+b,c,=a,+b,,C;=a,+D;,.....,C,=a,+b, - p|Cyp = ?

(A)176  (B)182  (C)206 (D) 240
)13. = i#75 ABCD 2 & £ %+ & %49 2 3+ O Bh» ¢ v AOAB ~ AOBC ~ AOCD 2. & ## A & 5 1-2-3 T = H i+ p| AOAD

mﬁﬁlig /.I‘%_Ef]\—'

(A) E B2 (€ 5 (D) 4

7
)14, % X ¢ 4255 4X+2mM =3X+1403X+2m=6X+1% 4k ez > B (M+2)" x(2m——)*"

L Y
Z B E@?

) 5 (8) 3 ©) —3 (D) —g

\/— \/_ Zﬁ+6 _
LN +\/_ B
A) -2 (®) ZJE ~43  (C) -2V2+4Y3 (D) -2V2+2410-25

)16. § - % L a8 S =43+37+31+25+... > F n&E 5 UpE S S B L foaw
(A)18 (B)17 (C)16  (D)15

)15. i

< HHEHRE >



)25.

1 3
A) 4= B) 4=
()3 ()4
KE PB4

2
(© 4%

EHT KA A 9

c‘,f:”};—k?f‘_j;”l

(A"

(B)e

©)p

4
(D) 47

rT\LL kamlll’b‘;fp TZK\IPLE‘WJ

T FF ali ﬂi;%n&\:ﬁ-#ﬂm?
(D)I’;h

R miE T

< BlEEsE R >

attif—ﬂgﬁﬁﬁi&f‘l&"‘gwb \ﬁ::&"gis.l,i LT‘L
e

)17_»};9 \Lﬁiﬁﬁgrk,gﬁgﬁjiiybﬁ.ﬂ e =213 FokenE R LT e =312 BEFILL T z
=3:4,>p|" a@-KeERE S 02
(A)2.9%  (B)40%  (C)66.7% (D) 80%
)18. L S FIFERT T e v T 14 Afe 15 AA AR T R A BT B (EEs= A7
)t et A e W AP R o RS 7 H T 400 R R L RE T T S A 14 =92
(A)20 % (B)16 & (C)10 % (D)8 #
)19, 4T G b 2 P(1,3) Q(1,4) ABF @S EES &= £ REEF A9
(A) 2 (B) 4 (C)6 (D) #2143
)20. 4 (:),;’gﬁﬁﬁym BCEz » MPIF ARG A B3 A7 L [Pt ELBPEHAY - EBFF 2
A P AT CB A EA T DEPF > BITRS EBI P s LEEAC=13 2% 5 AD =20 & % > & 4
FEE21 2% o RER B AR AB L 502 e?2 (A5 (B)12 (C) 2—610 (D) 16
21, 4e@) (=2 ) LT e > 2L P y=2X+a¥ L, y=x+bp 3yt chP 8 B AL ! y=2Xx+Cc&
y 2
o0 Y=X+dAp At xpht QB o R T Skt e L A ?
(A) a=b >c>d (B) a>b -c<d (C) a>b »c=d (D) a=b »c<d
A
A C V <a
N2
0 \"\
N/
B D
(=) (e ) R (1)
)22. 4@l (=) ABEE ML 33 B2 085 AB v 8o | £t AR I ingied 4o (T ) & B Bde
T
#F- 1 OB L Fle OA % X jE4 - Il -
HFH= L OB Gl o A%@(TA% igf_@%— “FlogrMmLIDEo
#H A= P DOF L2 RHALAFY - @2 CEho
ﬁ,ﬂ?m .@#&AC ~AD - BC ~BD<’T’;’£%‘ °
R T ARt e 3 - R AR?
(AJAC//BD  (B)AC=AD (C) ~DAC=-DBC  (D)~ADC=.BCD
)23. - RER L EHEA4RNE S ANE ARADIEFPQ R FTAPEL D-QEN BEE I R4cB (5 )
SUBMEF > ¥ T Ao BMEFBiEL > @ 9P BE ABMEF F 4e® (= ) & #AB% BQ > v i
3 B EABEABQ) N E - Brz 42, ABCAeR (~) B EMACHE NS - Bz £45. ;
Bf g2 4cB (1) hgk @RI S S Brz 4277
A3 B4 (C©)>5 (D)6
A D A L c
”””””””””””””””””””””” F 3 \‘\\\\/\ ---——3F
Q : 5 A Q
B (=) B () B (1)
AR PERF B A0 2 2 chiE d ABM B B o EL L RS
o ERREIR AL BT IR S 2B BB R ARG FR A L




